1.  Logan’s math teacher has a policy of not rounding up averages.  Logan has three tests with grades of 84, 92, and 75.  What grade must he have on his fourth test to have an average of exactly 84?

2. The following chart shoes the charges Sally’s Plumbing makes for a home repair call based on the number of hours worked.  If the pattern continues, how much would she charge for a full 8-hour day’s work?

	Hours worked
	1
	2
	3
	4

	Amount charged
	$95
	$130
	$165
	$200


3. Shelly, Audrey and Lisa are playing a game using number cubes.  Two number cubes are rolled.  If the sum of the two numbers is 6 or 10, Shelly wins.  Construct a table or chart that shows the sample space.  What is the probability that a sum of 6 or 10 turns up?


Show or explain how you determined your answer

4. A family of five buys a bag of jelly beans.  Each member eats exactly 5 jelly beans per day.  The bag starts with 300 beans in it.  Write a linear equation which models the number of jelly beans left in the bag in terms of the days that have passed.   When will the bag be empty? 

5. A public storage company charges new customers an initial fee of $20.00.  Each month of storage costs $16.50.  The company wrote the following formula to calculate the total charges: T= 20.00 + 16.50 m, where T is the total charges, and m is the number of months of storage.  How many months could a customer rent storage space for $515.00?

6. A lunch menu consists of 3 different kinds of sandwiches (ham, chicken, or roast beef), 4 different kinds of soup (chicken noodle, tomato, bean, and clam chowder) and 5 different drinks (Hi-C, lemonade, soda, iced tea, or coffee).   Find the number of choices available for ordering a sandwich, a bowl of soup, and a drink.

7. All the students in Mrs. Oleksy’s math class are given information about a line.  Amber knows that her line has a slope of –3 and a y-intercept of 6.

a. Write the equation of the line.

b. Construct a table of values and graph the line.

c. Identify the x and y intercepts on the graph

d. Stephan’s line passes through the points (-2, 3) and (1,9).  Find the slope of his line.

